( 4200 wnp ) 92/001—ACT

|Digji 2bd deie fr eRUh

NbK BS j3 ke FRLP SIhikie bh SYlbhie,

‘uonesiuedio jo sadAy asayy

ul 0URIJIP 9y} AJurer) ¢suonesruedio
[euLojur  pue f(ewroy are  jeym (o)

P (@ kb whlle B el 002
2RE Fe) Dlojlp IE g K NB (Rl B bt DEY|I-k

Ob=tx0T : (spiom 0oz
Jo jum] Sy} pPoddXd 0] ST IIMSUB oOu)
suonssanb Sumorioy ayy jo unof Aue tamsuy -}

, 3 plekje T 1ap k2K
ki) ‘G kR WP % LK BN b lpliph

L1osindwod ST T "ON uonpsanyd Yomym ur
suopsonb aAgy Jomsue 03 panmbax are seyeprpuE)

£ bl 2y ik pr 1y
syow IS ayporpur wbiow ayy w1 saunby ayj,

WRE: bhp 00¢ : loh
simoy ¢ : awigf 00T - SOl Mg
II—kh-k2K
I—Aadvd
RlRi-1B} IRD gnmw%

ADNVINNODIV ANV FOYTANINOD

dNSOOP

L—s33ed pajuny jo ‘ON [ej0]




(b)

(c)

(d)

12Y—100/26

(2)

What is the meaning of organisational
behaviour? Describe the characteristics
of organisational behaviour.
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What do you mean by ‘organisation
development™ Discuss its charac-
teristics.
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] eadership is the process by which an
executive directs, guides and influences
the work of others.” Discuss.
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Discuss critically the present industrial
policy of Government of India. What are
its recent trends?
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What do you mean by labour welfare?
Discuss its scope and importance.
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Who is responsible for the payment of
wages to workers under the Payment of
Wages Act? State the legal provisions
relating to wage periods and mode of
payment of wages.
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Discuss the scope of unfair labour
practices under the Industrial Disputes
Act, 1947. Also state the penalty
provisions with regard to unfair labour
practices.
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State the components of environment of
business organisation. How do they
influence business organisation?
Explain. ,
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Explain, in detail, Maslow’s ‘need
hierarchy theory’ of motivation.
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“Effective leadership is a mixture of
three factors—the leader, the led and
the situation.” Examine this statement.
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Define ‘management by objectives’.
Discuss its objectives, advantages and
limitations.
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Define ‘organisational behaviour’.
Describe the importance and limitations
of organisational behaviour.
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Describe various tools and techniques
of organisational control.
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What are the causes for resistance to
organisational change? What measures
would you take for effective manage-
ment of organisational change?
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Describe the rights, privileges and
liabilities of a registered trade union.
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What are the minimum and maximum
limits of bonus under the Payment of
Bonus Act? Under what circumstances,
deductions from bonus amount can be
made? State the process of recovery of
bonus.
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